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P-448(H\E) BOOK-KEEPING AND
ACCOUNTANCY 2016

Time : 3 Hours | Class : 12th [M.M.:100

Instructions-

(i) Question Nos. 1 to 5 are objective type questions which con-
tain one sentence answer, match the column, choose the
correct answer, fill in the blanks and True /False question
etc. Each question carries 1 mark.

(ii) Question Nos. 6 to 24 the words limit of each type of ques-

tion is as below:
Very short answer type questions carry 2 marks, approx 30
words. Short answer type questions carry 4 marks, approx
75 words. Long answer type Questions carry S marks,
approx 120 words. Long answer type Questions carry 6
marks, approx 150 words.

(iii) All questions have an internal choice except objective type
question.

( Nbiective Type Questions )
Q. 1. Give the answer in one sentence/one word each: 5

(i)  When consignment stock suspense account is opened?

(ii) The Persons who have entered into a partnership with one
another are collectively called ? :

(iii) What is the basis of valuation of goodwill?

(iv) The difference between the Old and New Ratio is.

(v) Dissolution of firm due to effect of time is called.

Q.2. Match the following columns: 5

A B

(a) Consignment Account is credited (i) Average profit

(b) Written partnership deed
(¢) Valuation of goodwill
(d) To take leave from the firm

(ii) Partnership deed
(iii) Abnormal loss
(iv) Realization A/c Dr.

(e) Payment of unrecorded liability (v) Retirement

(vi) Normal !
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Q.3.

Q.4.

- Q.5.

Choose the correct answer: ' 5

(i) - Period of payment of Interest on debentures:
(a) 3 month (b) 6 month
(¢) 1 year (d) Atany time
(ii) The amount of disccount on issue of debenture:
(a) Capital loss (b) Revenue loss
(c) Capital expenditure  (d) Revenue expenditure
(ili) Realization account is: .
(a) Personal A/c (b) Nominal A/c
(¢) Profit & Loss A/c (d) Partner A/c
(iv) Profit on revaluation at the time of admission of a partner is
' transferred to: '
(a) Capital A/c of all partner
(b) Capital A/c of new partner
(c) Capital A/c of old partner
(d) Profit & Loss A/c. |
(v) Overriding commission is paid on:
(a) Total Sale
(b) Cost Price
(c¢) Credit Sales
(d) On sales proceeds over, and above the invoice price
Fill in the blanks: 5
(i)  Normal losses take place due to ..... reasons.
(ii) The regisﬁ‘ation of partnership firm is .....
(iii) Super profit is that profit which is earned ................. than
| normal profit.
(iv) Revaluation account is a ..... account.
(v) Debenture is a written .... of debt.
Write True/False: 5
(i)  Consigner pay commission to consignee in cash.
(ii) New Ratio—Old Ratio= Profit Receipt Ratio
(iii) There are no difference between the dissolution of firm and
dissolution of Partnership.
(iv) - Mortgaged debentures are called secur ' debentures.
(v) The nature of debentures is that »f short penod loan. -
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Q.6.
(OR)
Q.7.
(OR)
Q.s.
(OR)
Q.9.
(OR)

Q. 10.

(OR)

Q.11.

(OR)

Q.12
(OR)

Q. 13.

(OR)

Q. 14.

(OR)

- -

Define Debentures.
What is meant by the issue of Debentures on Premium?
What is Cash Flow?

What is meant by Cash Equivalent?

Explain any two limitation of Accounting Ratios .
What does debt equity Ratio Indicate?

Give five operating expenses.

What is quick Assets?

What is meant-by gross profit Ratio.

What is the importance of Net Profit Ratio ?
Specify any four points of partnership deed.
http://www.mpboardonline.com

Rajesh, Sunil and Tarun are partner sharing profit

Ln

1
EI 1 respec-
tively. Their respective capitat are Rs. 12,000, Rs. 8,000 and Rs.
6,000. Partners are allowed 5% interest on capital and charged 5%
interest on drawing. Tarun is entitled to salary of Rs. 3,000 par
annum and sunil gets 1% commission on sales.

In the year 2011 the profit of firm before the above adjustment was
Rs. 11,500 and total sales were, Rs. 1,40,000. There respective
drawing was Rs. 4,000, Rs. 5600, Rs. 6000 on which interest was
Rs. 80, Rs. 100 and Rs. 120. Prepare the Profit and Loss Account.
Explain any four characteristics of company.

Meenakshi Ltd. issued 12,000 shares Rs. 10 each. The amoqﬁ e’r‘_
share payable as Rs. 2 on Application, Rs. 4 on Allotment and Rs.
4 on first and final call. All amount have been duly received. Pass
the necessary journal entries in the books of company.

Write the share and debenture difference.

Soniya Ltd. issued 4,000, 6% Debenture of Rs. 100 each Pavabic
Rs. 10 onapplication, Rs. 30 on allotment and Rs. 60 on first un
tinal call. Assuming that all the money were duly received. Droxw
necessary Journal Entries in the book of company.

Explain the various types of Debenture (any four)

Bharti limited issued 20,000, 15% debenture of Rs. 100 «¢

deemable after 5 year by converting them into shar. '
Record necessary journal entires for issued and :
benture.
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Q.15.

(OR)

Q. 16.
(OR)

Q.17.

OR)

Q.18.

(OR)

Explain the importance or significance of analysis of financial state-
ment. (any four)

Form the following information prepare a comparative statement for

the year ended 31 March, 2008 and 31 March, 2009.

Year 2008 Year 2009
1. Sales | 2,40,000 300,000
2. Cost of goods sold 140,000 1,50,000
3. Indirect Exp. ' 40000 50,000
4. Provision for tax 12 000 20,000

Explain any four objective of Preparing cash flow Statement.

Calculate Cash Flow from operating Activities from the following |

information for the year ending 31 March, 2008.

Cash sales : 200,000
Receipt debitor 10,00,000
Commission Receipt 100,000
Payment of Supplier 400,000
Cash Purchase 40,000
Outstanding salary ' 10,000
Cash payment:

Salaries 24 000

Rent ' 16,000

Insurance _8,000 48 000
Proceeds for flood redemption 26,000
Taxable Income 160,000
Income Tax 30%

Explain the limitation of Cash flow statement.

-Explain the difference between Cash Flow statement and Cash Bud-

get.
State the characteristics of consignment.

200 cycles costing Rs. 300 each were consigned to the agent at
Kanpur. Expenses incurred on sending them were Rs. 4,000. In
transit 5 cycles were damaged due to bad handling and insurance
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Q.19.
(OR) -

Q.21. |

(OR)

claim of Rs. 1,000 was received. The consignee took del ivcly ofthe
rest and incurred exp. of Rs. 780 and indirect Exp. Rs. 300 paid. He
sold 185 cycle for Rs. 400 per cycle. Calculate abnormal loss and
stock at the end.

Explain the various methods of valuation of goodwill with example.
Goodwill of firm is valued at three year purchase of the average profit
of last five year. Profit and Loss of last five year is as under:

First year 2,000 profit
Second year 1,500 profit
Third year 300 loss
Fourth year . _ 3,000 profit
Fifth year 3,800 profit

Calculate the value of goodwill of the firm.

What are the main rights acquired by a new partner?

Ajéy and Baldev are partner in firm. Their Balance Sheet as on 31
December, 2007. is as follows:

Liabilities : Amount Assets - "Amount
Bankoverdraft 5000 Cash 10000
Bills Payable 7000 Debtor 20000
Creditor 8000  Stock 10,000
Capital: Furniture © 10000
Ajay 20000 |
Baldev 10000 30000
50,000 - 50,000

-1
They admitted Chetan as a partner for 1 share. He brought Rs.

8,000 as capital and Rs. 6,000 as goodwill in cash. Furniture was
valued at Rs. 16,000 and stock at 8,000. Provision for Discount on
creditor was created @10% Prepare revaluation account and partner
capital account. |

Explain the various types of Preference share.

Ravi was holding 25 shares of Rs. 10 each on which he paid Rs. 2
on application but could not pay Rs. 3 on allotment and Rs. 2 on
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.Q.zz.

. (OR)

Q.23.

(OR) -

Q.24.

(OR)

first call. Directors forfeited the shares after first call . Give journal
entry for recording the forfeiture shares.
Explain the three items of liabilities and three items of Assets side of

Balance Sheet of a comapny.

Write any eight general facts for preparation of Balance Sheet.

State the difference between Realisation account and Revaluation

account.

A & B were equal patner in a firm. They decided to dissolve the

partnership on 31 Dec, 2006. Their financial position was as fol-

lows:

Creditor 2,700 Cash in bank 3,000
 General Reserve . 3000 Debtor 1,000
B’s loan 3000 Plant 4,700
Capital Account Stock ' 15,000
A 12,000 . Building 6,000

B 12,000 24000 Furniture 3000

32,700 32,700

Building was sold for Rs. 6,300, Furniture for Rs. 3,300 and stock
for Rs. 13,800. Debtor realised only Rs. 800 "and plant realised Rs.
4800, creditor were paid Rs. 2,600 in full settlement, expenses of
realisation amount Rs. 500.

Prepare the (i) Realisation Account and (ii) Partners Capital Ac-
count.

Explain the difference between Authorised Capital and Paid-up capi-
tal.

Ajay Limited Issued 10,000 equity share of Rs. 200 each at a dis-
cour® of Rs. 2 per share payable as Rs. 4 on application, Rs. 6 on
allo:ment (Including discount), Rs. 6 on first call and the balance

on s=cond call. All the amount were duly received.

Prepare Journal entries.
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AT TS Sr@TeRt (S
A

v 1. Frafafas + o s s v § I difse— 5x1=5§
(i) ¥ @y Fefiad @ e @en s ?
(ii) aﬂﬁﬂﬁ@-@%émﬂmmﬁﬁﬂﬁqﬁa@%,mmﬂw
Feu § ?
(iii) &0 & oA T AR FH Y ?
(iv) T &R = AT F1 o E
V) GUEE guTE § 9 W gEed & faees seam ¥
- I (i) T A o e N SR, (i) ER, (i) S1aaE
STV ¥Iferd, (iv) T 39T, (v) S4R BRI WHI9H |

WY 2. HEl AEt TEU— Sx]=5
- -
(30) uum @ a1 faEar s 2 () aga @
(=) fafem s (i) aEE dee
(W) Efa &1 oA (i) FrEmFT By
(2) H  HTHTT T (iv) et wmr 3fae
(3) «ifafad = &1 yam (v) fradam
(vi) &= Bifq
FA—(3) - (iii), (@) > (i), (@A = (i), @ > (v), (@) > (iv).
we 3, Freferfaa ¥ af faeea gfvo— §x1=5
(i) FUTHH T ST & ST T Iyafer §—
(a) 7 wrE (b) T TS
(c) U g (d) Tt oft wre )
(i) FoTaAT = Fohn ot w2 & idr—
(a) st wif (b) s wfy
(c) Jsitma =7 (d) ST B |
(iii) T @rar E—
(a) =A@ @m (b) -IETE F @R
(c) Tm-%IfT @ (d) QISR &1 G |

(iv) WA & W9 UL GAHeaiah § gU o9 1 3afa faram s 3—
(a) O} TIEERT & g @ o (b) T TR & ISt @ |
()RRl Ry @3 d  (d) env-wfiam A
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(v) dfirarat st s AT fomar wrar E—
(a) et famwma e (b) €T HTT WY
(¢) SuR fawy (d) siterer Fea @ sifiaek fasa gea
FTC—(i) (b), (i) (a), (iii) (b), (iv) (c), (v) (d).

we 4. T Tt ) ofd i — Sx1=5

(i) AW g e RO A S R
(iilmﬁiﬂﬂq?ﬁf‘ﬂﬁrﬁ?ﬁ'&? ........... #)
(iid) 2ATHENTY =g T T T SN WA T G e ifera e wmar 31
(iv) TRt @ - &1 @ ¥
FAT— (i) A !l wh e, (if) e, (jiit) 9/ 3A6F, (iv) 09, (v) wom
W 5. ¥/ 3w fafaa— 5x1=5
(i) Yo Yot Y e e § 2w
(ii) 791 ST — QAT STUT = T Wi 3rgare |
(iii) HH & faaea S wEiEent & fawe | =1¢ s == &)
(iv) A4 O QU 0T SHeen ¥ |
(v) TEIYH STTEIEH R0 H AF D AL |
I~ (i) T, (ii) TH, (iii) A, (iv) T, (v) 375 |
WY 6. 09 1 afenfea wifsw ) 2
37erar
wifeem o s & ffas @ e s § 2
U 7. UFS AR A& ? - 3
arerar
UHg qed § &A1Y 1 9Ig € 2
WY 8. EIH STIA FI g <Y WA Ay | - 2
Srerar
T HHAT 37U 1 e ¥ 7
WY 9, Yidg durer = it 2
HAGT
yitw g ® ?
WIT 10. THel T 379 T =91 Y ? 7
3rgar
Y[ 1Y 31T 1 991 Heed § ?
WO 11, "ERr dera | seafea an gl =) g 4
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31erqr

o, et o aor w9 %ﬁll & Ty ited ¥ 1w G
12,000°5., §,000%., 30 6,000 %. ¥ 1 5t T 5% =4S T ST T, S0 9 5%
ST Fr ST & | 6T 3,000 T, SR A I ¥, Thel Fet et 9t 1% e
g g

T 2011 H1 @Y GHERA S T4 | 1,500%. 711 B =69 1,40,000°F. 411
AR 4,000%., 5,600 F. 3 6,000 €. & fort W HA: 80F., 100%. AR 120 %.
RIS
wny-gifa feeTor @ |95y |

ygA 12, FEER = o) I fadremmad] &1 = st 4

arerar

e fafide 3 10 . & 12,000 3 s # Frifaa i sawarg 4
2%, ST, 4 T. A UE 4 6. WG o fw ArE ared ¥ | wedt ufvn aarawy
WA A

Feo! & e 7 sia wfafl i

qy+ 13, 3791 U HIH H H- e | 4

3rerar

GifTar farfde ¥ 1005, 9 4,000, 6% Teoras Fifira fvd | ondes o ™
10 %, ST W 30 . Tl AT TR 60 T wer ForT= fer A | el uferat wwa
T B :

S| &1 kT § Sree e St |

T 14, O & TR YR @1 0 i 4

arerar

st Fet. 3 20,000, 15% Fa0rTs W& 100 T et 5 vl 1% 50 %. Al
sieit 3 afcerd feman v ¥ 1 SEoras) R S R A 3 T @ fag sEvas®
sty ufafte ifaa)

o 15, faria ferarcull < fageravr =1 Hee TuemEy | (#1E 9R) 4

arerar
ﬁmqamaﬁ%anwm@mﬁ%mmmﬁ,zmwﬁmmff,zmw
#1 "o ad & forg o Egu—

ad 2008 | =€ 2009

. .
CED 240,000 300,000
T A HIE HT AT 140,000 1,50,000
AqEd ] =0 40,000 50,000
FY ¢ WEHH 12,000 20,000

e
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w9 16. Uhg wame faato & =1 ur stya fafan 4
srgar
fret garmedi & 31 1, 2008 @ T 4 ¥ Hamor frEanstt @ s var
T TN s — '

0.
e Tamg 2,00,000
TR Y : 10,00,000
FHIYH e 1,00,000
yftesdl &1 YraE 4,00,000
THg HY 40,000
I g 10,000
The YTdHE
L
ChE| 24,000
et 16,000
Gl _8,000 48,000
15 efayfd Tema ' 26,000
L HY 3 1,60,000
HAEHRT 30%
¥ 17, Ue vare fagtor st dand s | 4
3T
g wer faato qen Uwg 992 # o= fafen
TS 18, A9 &1 fEfemsti @1 s wifeg | 5
HYGT

200 TrEfeRe forren @ 9o 300 %. wfa aafad ¥, S P e $ 19
W= | AT 99§ 4,000 F. 49 gL U H 5 wifEd e 8, s et |
1,000 %. 9T 8 | A5ott A ¥ gfenet i =i, 39 W 780 ©. =94 fRg, styred =14
300 . TCI 36 185 Wifehei 400 € H XA A=A |

FETaTYr i AR s1fm Wi & o Sifee )

Uy 19, Taifa & qeais & fafudi €1 g s wegE | 5

| arerar

U EH it BT o Ao S6e fard ute 6l & ofea Ty & o aet

& wa W o s @) fara o o 1 el free d—

T,
qq oo 2,000 &Y
fdgad 1.500 =%
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CRIREE! 300 @

A Ty 3,000 F19

Tam 7 3,800 ™

wH 1w w1 e fmio S )

W9 20. 73 BERER F FH-8 ugE Afsn wa g 2 5
3yerar

Ty 3 Teey uw wd  aue F gniEr T 3] foaer, 2007 w3
fagt faerfafaa 3

wfirs Tfor wafaar afe

T ¥,

=% sfufasd 5,000 | g 10,000

27 faus 7,000 | 298 " 20,000

R AL 8,000 | =i 10,000

Ll IUEHRT 10,000

#ed 20,000

Hqeled 10,000 30,000

50000 50,000

oA -‘l w1 & forg =1 arlen == i 9% 8,000 F. et @ A 6,000 %.

A & T S E | T # e 16,000 %, 3R Wi 1 YET 8,000 F. HH
T ¥, SRR 9T 10% w8 w9 faman A
e @ v Y9 @ w45 |
Wy 21, qaEiTaEmR syl & fafus wrl #) qwgmgg 5
arerat |
g & ur 10 & |l 25 gAY 4 foed 8 369 2 %, e v & 59
Afema A B 3%, SR WYY Ao F 2T, 6 S U WGH =S AR AR 6

a0 & fean
it wfafee sife )
o 22wl @ feafa faawor & <ifaq g weafa s &1 3-3 95 &)
HRAET | argar 5
feeyfar Faarn Far =0 & Ty 3 fe =l o umr= qedl =) fafaa
UyA 23, gyl @ vd giiemas @ # st fafau 6
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3rear
A 3 B U Wi @9 wEier 91 3% 31 fgEmR, 2006 ) 9@
wHr S o1 e foan ) st anfie fef 50 weR E—

ifre | e wegfsrat e

. 7. &
BTN 2,700 | s H kg 3,000
W e 3,000 | &R : 1,000
B &1 F 3000 | @ 4,700
il @ =ih 15,000
A 12,000 waq 6,000
B 12,000 | 24,000 | Fi=d 3,000
32,700 32,700

| o5

W 6,300 F., 7 FATER 3,300 T H, =i 13,800 %, A =91 T TER G
St 800 T. WK, T2 H 4,800 F., ATERI T &S JTAH H 2,600 . fo, aget
A 500F. |

(i) el @ (i) SRR w1 ISt ' 3Ry |

U¥ 24. atfega dSit va Fewar Istt | e fefe ) 6

37T

g fafaee A 20 %. el 10,000 T 3797 2 %, Ufd 9 1 et A ot o
frffaa 6711 4 5. @887, 6 %, 21eea (F319f%d), 6 T woW araEr &K v ufyr
feetty araan o 29 ¥ ufyrl gag g wma 8 )

e wiaftegt e
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